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[1-3] Identify the one underlined word or |6. Because of heavy traffic and the
phrase that must be changed in order for | destructive effect of certain weather
the sentence to be correct. conditions, highways and streets need

1. In the letter signed a) by the entire

staff, b) it was asked when c¢) would they

receive the promised pay d) increase. [3%4]

2. A binary star a) is actually a pair of
stars that b) is held together c¢) by the

force of gravity and seen from Earth d) as

a single entity. [34]

3. a) When winter descends b) to the bulk
of North America, ¢) the climate of Florida

d) remains mild and pleasant. [3%]

[4-6] The following sentences are incomplete.
One of the four words below them will complete
them. Read the sentences and choose the right

answer.

4. In the course of living, precepts are not
so important as habits. A habit is a living
precept. To change one's precepts is no
more than to change the title of a book.
To change one's habits is to affect the
essence of life, for life is ________ [3A4]
a) a series of habits.

b) a series of precepts.
c) hard to change

d) governed by precepts.
5. Advice is like snow; the softer advice

falls, the longer it dwells upon and the

deeper it sinks into the _______ [3A]
a) snow. b) mind.
¢) ground. d) giver.

frequent repairs. A significant part of the

total budget for roads must be spent on

a) bridges. b) safety education

¢) maintenance. d) signs.
[7-17] Choose the one or phrase that best
completes the sentence(s)

7. The computer programs that have
appeared since the appearance of the
pentium chip__________ so  sophisticated

that applications undreamed of just a few
years ago are now possible. [474]
b) will be

d) becoming

a) have become

c) are being

8. The debates of the state ratification
conventions of 1787 and 1788
need to provide amendments to the basic
framework drafted in Philadelphia. [473]

a) made clear

b) they make clear

¢) making clear d) makes clear

_________ to sting has been a subject of
research by biologists at the university. [4%4]
a) What antagonizes the wasp
b)
c)
d)

That antagonizes the wasp
Although the wasp is antagonized
It is the antagonization of the wasp

10. No single individual has done more to
better the situation of these impoverished
a) then Mother Theresa.
b)
c)
d)

it being Mother Theresa.
she was Mother Theresa.
than Mother Theresa.
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11. First and foremost among America’s

nineteenth century  popular novelists

______ who thrilled readers with his tales
of Mississippi river folk. [44]
a) Mark Twain came
b) is coming Mark Twain
c) comes Mark Twain
d)

Mark Twain was coming

12. Fertility of land is enhanced to a great
extent by the presence of bacteria in the
soil. Fertility would be reduced if the soil
[47]
a) cultivated.

b) sterilized.
c) watered. d) fertilized.
13. When 1 first read the book, I accepted its
ideas only tentatively, but since then they
have become so entrenched in my philosophy
that I can no longer
a) believe them to be true.
b) make up my mind.
¢) think in any other way.
d) partake of those thoughts.
14. The modern system of production often
calls for a congregation of large numbers
of workers in a particular area. This is a

fact that has led to the development of

large ________ [47]
a) cities. b) banks.
¢) markets. d) buildings.

15. Although most
concentrated population areas and provides

public transport is in

access to stores, schools, cinemas, and so

forth,
limited. But private transport provides almost

the individual's mobility is relatively

unlimited freedom of movement. [t

a
b
¢
d

is less expensive.
cannot compete with public transport.

eliminates confinement.

= — =

promotes the concentration of population.

16. Work has a very special meaning to a
physicist. When any mass is lifted any distance,
the physicist says that work has been done.
The amount of work done does not depend
on the path that the mass takes in moving
this distance. The two important factors that
determine work are
a) direction and mass.
b)
c) speed and distance
d)

size and exerted force

mass and vertical distance.

17. There are those people who never admit to
error of judgement, who are confident of always
being right, who will acknowledge no merit in
any viewpoint other than their own. Discussion
between them and others is impossible, because
their conversation is too

a) egotistical. b) erroneous.

¢) impartial. d) confidential.

[18-19] Identify the one underlined word or

phrase that should be corrected or rewritten.

18. Accounting is a system a) meant for
measuring business activities, b) processing
of information into reports and making the

findings available to decision-makers. The

documents, which communicate c¢) this
findings about the performance of an
organization d) in monetary terms, are

called financial statements. [473]
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19. Because we are frequently a) exposing to
the work of psychologists in our everyday
lives, we all have an idea about b) what

psychology is and what psychologists do.
Psychologists work in forensic fields, and they
¢) provide counseling and therapy for people
But

thousands of psychologists in the world, and

in distress. there are hundreds of
most of them work in other places, doing work

d) that you are probably not aware of. [44]

[20-22] Choose the one or phrase that best

completes the sentences.

20. The redness of a blood clot is determined
by the predominance of red blood cells, but
the cells do not contribute to the formation,
or to the internal structure, of the clot. When
the clot develops, these cells are caught in the
semisolid gelatinlike mass. By washing the clot
in running water, it is possible to free it of
red cells, so that the clot will _________
a)

b)

c) disappear completely.
d)

develop anew.

change its shade.

retain all of its properties.

21. A seventeenth-century German tried to create
a vacuum by removing all the air from a
He filled an airtight

container with water, which he then tried to

container. completely

pump out. Since no air was in the container to
start with and none could get in, he would have
made a vacuum if he had been able to get all
the water out. His first experiments failed,
however, because the containers collapsed after
only part of the water had been pumped out.

This result proved that

water and air do not mix.
air has great pressure.
no one can create a vacuum.

air weighs less than water.

22. The thyroid gland swells in many cases when
the gland becomes defective and cannot supply
an adequate amount of the thyroid hormone for
the body.
are produced, which in part compensate for the
This

illustrative of a

In this condition, more thyroid cells

deficient activity of the individual cells.
compensatory reaction is
general tendency of
their

When part of an organ or tissue is destroyed,

living organisms to

compensate for physiological defects.
the remainder, by this principle, may
a) gradually die if not treated.
b) cause illness by its excessive swelling.
c) compensate by supplying all of the
thyroid hormone.

d) enlarge or increase its activity.

[23-24] Choose two words or phrases that
best suit two blanks (A) and (B) respectively.

23. There is an apparent need for energy to
perform physical work. Work has to be done to lift
a load against the force of gravity, and there must
be a source of energy to perform that work. The
energy used in various activities can readily be
measured, as can the metabolic energy yield of the
foods that are the fuel for that work. This means
that it is possible to calculate a (A)

between the intake of energy, as metabolic fuels,

and the body's energy expenditure. Obviously,
energy intake has to be appropriate for the level
of energy expenditure; Neither excess intake nor a

deficiency is (B)__________ 55
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a) bait derivable
b) balance desirable
c) ballot detachable
d) bandit detrimental

24. Environmental pollution is classified into

various groups. For instance, pollution of
air is termed as the atmospheric pollution,
the pollution of hydrosphere or water is
termed as water pollution, while pollution
due to disposal of waste water is termed as
industrial effluent  pollution. Similarly,
indiscriminate disposal of domestic sewage
effluent

or sullage is called domestic

pollution. these major sources of

pollution, we have pollution of lithosphere
or land, called soil pollution. For instance,
pesticide residue contributes towards soil
pollution. Urban areas are blessed with the
menace of noise, which at times becomes
It is

Some kinds of pollution lead to generation

called noise pollution.

of smell or odour; and as such its

measurement becomes important. [75]
(A) (B)

a) Irrespective of transferable
b) Regardless of movable

¢) In accordance with favorable
d) In addition to intolerable

[25] Rearrange the following five sentences
[A], [B], [C], [D] and [E] in the proper order
to form a coherent paragraph. Then mark

your answer.

25.  [A] The notion of a critical period is true
of many species and seems to pertain to
species-specific, biologically triggered behaviors.
[B] It unfolds according to what appears to be a
that is

Similarly,

maturationally determined schedule
(C]
certain species of birds develop their bird song

universal across the species.
during a biologically determined window of
time. [D] Ducklings, for example, during the
period from nine to twenty-one hours after
hatching, will follow the first moving object they
see, whether or not it looks or waddles like a
duck. [E] Such behavior is not the result of
decision, external

(54

conscious teaching, or

intensive practice.

The proper sequence should be
a) [A]-[BI-[DI-[C]-[E]
b) [A]-[C]-[E]-[B]-[D]
c) [A]-[E]-[C]-[B]-[D]
d) [A]-[DI-[E]-[B]-[C]



